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23.						An	electron	recombines	into	a	(nl	=	4d)	state	of	Hydrogen.		What	
are	the	probabilities	for	the	allowed	electric	dipole	radiative	transitions	
starting	from	the	4d	level?		Continue	the	allowed	radiative	cascade	until	
you	are	stuck	(cannot	radiate	via	electric	dipole	rules)	or	are	in	the	
ground	state.		Give	the	names	(i.e	Ly	g)	for	each	of	the	allowed	
transitions	in	the	radiative	cascade	and	the	probability	that	you	will	get	
a	photon	through	that	transition.		This	is	a	“branching	ratio”	calculation.	
	
Redraw	this	diagram	on	the	board:	
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